Downloaded on 30 September 2024 08:14 | Tri Okta Ervina - ENG BJS

/\CELYDE Document: Datasheet of BA CRUSHER
©ERGEMANN
Document nr. 1240420-DRB20-M003
SYSTEM : Bottom Ash Handling System
Document Revision:| 7 Prepared Approved Date
SI No:| 4 - CEI 10.12.20

General

Plant Tanjung Jati B-Unit 5&6; 1000 MW , Indonesia

Unit Unit 5 & 6

Ambient Temperature
Relative Humidity

Min-Max: 22 - 359C ; Avg -29°C
Min — Max: 50% - 92% ; Avg- 75%

Barometric Pressure 100,78 kPa

Matrial Data

Material Bottom Ash
Density for volumetric calculation kg/m? 720
Density for Power calculation kg/m?> 1120
Particle Size mm max 250
Design Temperature of Ash °C 200
Feed Capacity t/h 30
Feed Size mm 0-250
Product Size mm < 50 mm
Machinery Data

Troughput rate t/h 30
Manufactur BHS SONTHOFEN, Germany

Model No: PB0806

Installation Outdoor

Quantity & Tag No

Manufacturing Data
Type

Unit 5: 2 Nos; 50HDAO05AJ001 & 50HDAO5AJ002
Unit 6: 2 Nos; 60HDAO05AJ001 & 60HDAO5AJ002

Impact Crusher

Operating time Continuous

Operating Temperature °C 200°C

Noise emission < 85 db(A) @ 1 m from surface of equipment.
Feed Particle Size (max) mm 250
Product Size mm <50 (100%)
Design Temperature °C 300°C (for short duration)
Crusher Dimension & Parts

Rotor dimensions

Diameter mm 800

Width mm 620

Shaft Diameter mm 140
Hammer 3 Nos.

Feed Opening mm 640 x 650
Cam/rotor Rotating speed rpm max. 1874
Dimension mm ~ 2200x1600x1900
Weight Kgs 4400

Uncontrolled when printed or downloaded. Verify that this is the correct version before use.

g Reproduction of part or all the contents of the document is prohibited without written permission from PT. Bhumi Jepara Sep«l\'ng




I 3

T

Imenng

Position No
MHPS.

INAME OF PARTS

uantity|

Suppller
Pos—No.

701

5611

Crusher — Diverter Chufe (Chute part 1

Crusher — Dverter Chute (Chute part 21
o

Crusher — Diverter Chute - Conpensafien flange

= Chute Bolf MIExt5 50
[BA Crusher - Diverter Chute Bolt Miéxict 55

[BA Crusher — Diverter Chufe Nt Hle
[BA Conveyor 2 - Steel Suppart Structure incl. Stairs Nut M1G

er ~ TiverTer Thi:

At
[BA Crusher Balr - Connectien BA Lonveyor 1€ BA Diverfer - Boll HIGxss

[BA Crusher Bolf - Connecfian BA Conveyor 14 BA Diverfer — Nuf M1

[BA Crusher Bolf - Connection 8A Conveyor 14 BA Oiverfer - Washer Mg

[BA Crusher - Gasket - Weicon Fl

ex
[BA Crusher — Crusher Inlef Chute (Diverter Chute Hopper

[BA Crusher — Disfance Flange
sher - Qyprter

T ot Compersl

PRI~
[BA Crusher - Steel Supprl Strucutre inc Platfarm bolf M x5
BATrGsher Batt ~ W Ton Tiverter & Compensaar —NGTHIE
[BA Conveyor 2 Steel Support Structure ncl Stairs Nut

I
104

=Ty
Vil

I
[BA Crusher Balf - Connaction Overfer & CompensaFer - Washer M6
Cove) L Suppart, Stgustuge fncl Sfass Washer LM

TEINIERE,

Crysher - Diecter Chyte Actiate

70

Crusher - Connection Diverfer Chufe Actuator - Bolt Mi2340

Crusher — Connection Diverter ChuFe Acuafor — Nuf MIZ

Crusher _ Comction Diverter Chure Actuafor_ Washer HIZ
“Trshar ~ Dverer Thufe spachon

Crusher — Diverter Chute Overflow Sensor

Crusher — Diverter Chute Proximity Switch

A Crusher ~ mpact Crusher

A Crsher Bolt - Connection Diverfer L Crusher - Bolf M20x60

A Crusher Bolr - Connection Diverter & Crusher - Nut MZ0

A Crusher Bolt — Connextion Diverfer & Crusher ~ Washer H2D

pare Parf - BA Crusher - Wear Plafe L

[Gpare Parfs ~BA Crusher — Crushing Comb

[Spare Parfs — BA Crusher — mpact Plafe T

[Spare Parts ~BA Crusher - pac Plafe 2

[Spare Parfs ~BA Crusher - Side Wear Plafe

[Spare Farfs ~BA Crusher — Wear Plare T

[Spare Parfs - BA Crusher - Waar Plafa 2

[Spare Parfs - BA Crusher — Wear Plafe 3

[Spare Parts  BA Crusher — Wear Plafe 5

[BA Crusher — Inpacte Crusher - Rafafian Montaring

[BA Crusher ~ Impact Crusher ~ Anfivbration Bolf M 26x137

[BA Crusher — Inpact Crusher - Anfivbrarion Washer 24

[BA Crusher — Inpact Crusher - AnfivibraFion Washer TILO B/PA

[BA Crusher ~ Impact Crusher ~ Anfivbrafion Washer U26

[BA Crusher — Impact Crusher — Anfivbration Rur M Z¢

[BA Crusher ~ Inpact Crusher — Anfivbrafion Pads TICO CF/PA/&Q

[BA Crusher — mpact Crusher — Anfivbration Glew TICO Typ 5

[BA Crusher — Inpact Crusher — Anfivbration Pipe 1 x100nn

[BA Crusher — Impact Crusher Movable Supaort Structure

[BA Crusher — Clamping Shea! Crusher Traliey.

o = pCT Crasher Outer Chute Wrschar ge Sdaptort

(G
[BA Crusher Bolr - Connection Uiharge Adapter & Base plate - Bolf M6x55

[BA Crusher Bolf — Connction Uichar e Adapter & Base plate —Nut MT6

Crusher Balf - Connection Dicharge Adapter & Base plate - Washer G

Crusher - PB Hof

Crusher — Impact Lrusher - Hovable Support Strucfure — Plate Z5x10bx 1100

Trisher = Transifian Chife 1

Crusher — Lower Transition Chufe 1
Crusher — Transition Chure 2

Crusher Bolt - Connection Transition Chute 182 & Diverfer - Balt M20x70

Crusher Bolt - Connection Transifion Chute 182 & Diverfer - Nuf 120

Crusher Bolt — Connection Transifian Chute 187 & Diverfer - Washer MZ0

Crusher - Gasker Transifion Chufe 152 & Diverfer (550x550]

Crusher — Gashef Transifion Chute 162 & Conveyor 2 (566x5631

Crusher — Gashef Transition Chute 142 8 Gate Valve 2 (5201520}

Crusher — Lower Transition Chufe 2

Crusher - Steel Support Strucufre incl. Platfarm Bolt M16 x 65

Conveyor 2= Steel Support Struckure incl_SFairs Washer - M

Conveyar 2~ Steel Suppert Structure ncl Stalrs Nut MI6

Crusher — Balf - Connection Transifion Chule 18 Lompensator - Bush 832

Crusher Bolt - Connection Transifion Chute 142 & Diver fer - Boll M20x50

Crusher - impact Crusher - Balf

[BA Crusher ~ Inpact Crusher - PB V-BelF cover.

[BA Crusher ~ Impact Crusher - Brakef Belf Plafe 1 (5x50x230)

[BA Crusher —Inpact Crusher —Bracket Bel1 Plare 2 {7550x230]

[BA Crusher ~ Impact Crusher -~ Connection Bell - Bolf FIZx35

[BA Crusher — Impact Crusher - Connaction Belf — Nut M12

[BA Crusher ~ Impact Crusher —Connection Belf — Washer

[BA Crusher ~ Impact Crusher -~ Connection Plafe - Bolt M2x80

[BA Crusher — Impact Crusher — Connaction Plate - Nut Hzk
[BA Crusher ~ npac|

Crusher — Comection Plate - Washer 26

[BA Crusher ~ Inpact Crusher -~ Connection Plafe - Washer 2&

B e

[BA Crusher — Impact Crusher — Connection Motor - Balt HZ0x8D

[BA Crusher — Inpact Crusher - Comnaction Mafor - Washer 20

[BA Crusher — mpact Crusher - Connection Hofor — Nuf M20

[BA Crusher — mpact Crusher  Comnection Mokor - Tension ral

[BA Crusher ~ Inpact Crusher — Connection Mofor — BalF M2& el

[BA Crusher — mpact Crusher — Connection Mofor  Washer 2

[BA Crusher —Impact Crusher — Comertion Mofor — Nuf

L
[BA Crusher ~ Inpact Crusher ~Comecion PlaFe & Crusher - BolF 2Tl

[BA Crusher ~ Bypass

[BA Crusher — Bypass Pipe Pos. &

[BA Crusher — Bypass Pipe Pos. &

[BA Crusher — Bypass Pipe Pos. §

[BA Crusher ~ Bypass Pipe Pos. T

[BA Crusher - Bypass Pipe Pos. 8

[BA Crusher — Bypass Ppe Pos. 8

[BA Crusher — Bypass Pipe Pos 10

[BA Crusher - Bypass Pipe Pos. 11

[BA Crusher — Bypass Pipe Pos 12
Crosher - Bypase Flange

[BA Crusher — bypass - Bol  F2x30 )7 T

[BA Crusher ~ Bypass - N M2

A Crusher ~ Bypass - Washer 12

A Crusher - Bypass - Gashet

A Crusher — Bypass Plate Pos 24

A Crusher ~ Bypass Plate Pos. 75

A Crusher — Bypass - Valve

A Conveyor 2 - Manfenance Gare Valve

[BA Crusher — Rall - Plafe 39393600

[BA Crusher - Discharge adapter outlef compensafar DNGDD

[BA Crusher — Adapfer Flange

[BA Crusher - Adaprer Flange Washer Z1

[BA Erusher - Adspter Flangs Nuf M27

IBA Crusher — OuFlef pipe 6580

[BA Crusher - Warning sign — ot surface

[BA Crusher — Warning sign — Open end blind rivel Tt head 3316

2

Beto
Lever Design must be changed etore

an- site far Unit 5 befare canissianing!

modificatian
Flange and fube
has fo be cut

6

Installation Proximity Switch Pos. 15
see manufacturer dokumentation

7
V4
i

@@wuus

25Y27129) 6 ) (&)

22

N
25027 296 ) (D

After modification
Flange of bypass does not match
with flange on BA Conveyor 2.
Therefore, the flange has to be

cut off and flange of DRYCON has to
be welded

welding is
not necessary

E
N

0

Before modification
Flange of bypass does not match
with flange on BA Conveyor 2.

1203

Cutting line

—NEL

64

Bush Pos 36must be fitted on-site to length L

Pad 1= 58mm

Pad 2= 25mm
5 6mm + 2,7mn
Beam thickness = T2

Gap

According to manufacturing folerances of beams and plates,
dimensions T1and 12 must be measured on-site. With the measured
dimensions, dimension L can be calculated for

) [

3533

These bushes of
P0OS.No.36 need

to be fitted on site

in the same manner as
shawnin fig "Z"

1

D-D

3

L —r U
5 per S o2y o

TG Jre [
Bz

13 2 I[50v (191207

2 per S [izoms sov_
[ we |

o209
I

REVISIONS

Uncontrolledgw

Reproduction of part or all the ¢

o

enprinied 8 ddweloaded. Verify Jha this is the corr
ents of the document is prohibitgy w

e

out written pgfmisgion fro

Se. .
umi Jepara Serv

180578 K.

Crusher House
Erection Drawing

iE]

1240420-CHA-MOO1
=




